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1) g§̀ wº$ amï´> ‘hmg ôZo .......... gaH$maÀ`m àñVmdmda 2022 ho df© eml²dV nd©Vr` {dH$mgmMo Am§Vaamï´>r` df© åhUyZ
Kmo{fV Ho$bo.
1) ŷVmZ àOmgÎmmH$ 2) VwH$r© àOmgÎmmH$ 3) MrZ àOmgÎmmH$ 4) {H${J©P àOmgÎmmH$

1) The United Nations General Assembly declared the year 2022 as the International Year of Sus-

tainable Mountain Development, at the proposal of the Government of the .............

1) Republic of Bhutan 2)  Turkish  Republic 3) Republic of China 4)  Kyrgyz Republic

2) Imbrbn¡H$s H$moUVr {dYmZo MyH$ AmhoV?
A) eonm© hm XoemÀ`m qH$dm gaH$maÀ`m à‘wImMm d¡̀ {º$H$ à{V{ZYr AgVmo Omo Am§Vaamï´>r` {eIa n[afXoMr V¶mar

H$aVmo.
~) gwaoe à ŷ ho Or 20 {eIa n[afXogmR>r n§VàYmZ Za|Ð ‘moXr `m§Zr {Z ẁº$ Ho$bobo n{hbo eonm© hmoVo.
H$) eonm© {eIa n[afXoÛmao {Z`moOZ, dmQ>mKmQ>r Am{U A§‘b~OmdUr H$m`mª‘Ü ò gh^mJr Pmbobo AgVmV.
S>) eonm©Mr {ZdS> ‘§{Ì‘§S>imVrb gXñ¶m‘YyZ Ho$br OmVo.
n¶m©¶r CÎmao …
1) (~) Am{U (S>) ’$º$ 2) (A) Am{U (H$) 3) ’$º$ (S>) 4) (A), (~) Am{U (H$)

2) Which of the following statements are NOT correct?

a) A sherpa is the personal representative of a head of state or government who prepares an

international summit.

b) Suresh Prabhu was the first sherpa  appointed by  Prime Minister Narendra Modi for the G20

summit.

c) The Sherpa engages in planning, negotiation and implementation tasks through the Summit.

d) The Sherpa will be selected from the Cabinet only

Answer Options :

1) (b) and  (d)  only 2) (a) and (c) 3) only (d) 4) (a), (b) and (c)

3) Imbrbn¡H$s H$moUË¶m g§ñWoZo "’$mñQ> A±S> {g³¶wAS>© Q´>mÝg{‘eZ Am°’$ Bbo³Q´>m°{ZH$ aoH$m°S>©g²  (FASTER)' hm {S>{OQ>b
ßb°Q>’$m°‘© gwê$ Ho$bm ?
1) [aPìh© ~±H$ Am°’$ B§{S>¶m 2) gwàr‘ H$moQ>© Am°’$ B§{S>¶m
3) Bbo³eZ H${‘eZ Am°’$ B§{S>¶m 4) g|Q´>b ã ỳamo Am°’$ BÝìhoñQ>rJoeZ

3) Which of the following institutes launched the digital platform "Fast and Secure Transmission of

Electronic Records (RAAD)"?

1) Reserve Bank of India 2) Supreme Court of India

3) Election Commission of India 4) Central Bureau of Investigation

4) H|$Ðr` ‘§{Ì‘§S>imZo ~mb Ý`m`, H$miOr Am{U g§ajU Am{U ‘wbm§Mm H$m`Xm 2015 ‘Ü ò gwYmaUm§Zm ‘§Owar {Xbr. `m
g§X^m©V Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
A) `m XwéñVrZ§Va, {Oëøm§Mo ~mb g§ajU ẁ{ZQ> ho {Oëhm X§S>m{YH$mar (S>rE‘) ¶m§À¶m XoIaoIoImbr H$m ©̀ H$aob.
~) {Oëhm X§S>m{YH$mar ñdV§ÌnUo ~mbH$ë`mU g{‘Vr Am{U {deof ~mb nmo{bg ẁ{ZQ>Mo ‘yë`m§H$Z H$ê$ eH$VmV.
H$) {Oëhm X§S>m{YH$mar ¶m§Zr ~mb g§JmonZ g§ñWoMr j‘Vm Am{U nml©²d ŷ‘r Vnmgë`mZ§Va Ë`m§Mr Zm|XUrgmR>r {e’$mag

Ho$br OmB©b.
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$) 3) (~) Am{U (H$) 4) (A), (~) Am{U (H$)
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4) Recently the Union Cabinet approved the amendments to the Juvenile Justice, Care and Protection

and Children Act 2015. In this regard which of the following statements is/are correct?

a) After this amendment, the Child Protection Unit of districts will function under the District

Magistrate (DMs).

b) DMs can independently evaluate Child Welfare Committee and the Specialised Juvenile Police

Unit.

c) He can check the capacity and background of the Child Care Institute, following which they

will be recommended for registration.

Answer option :

1) (a) and  (b)  only 2) (a) and (c) 3) (b) and (c) 4) (a), (b) and (c)

5)  Imbrbn¡H$s H$moUVr OmoS>r ~amo~a Owibr Amho?
A) ~amH$ 8 - ho {’«$JoQ²gbm OmoS>bobo bm§~ n„²̀ mMo O{‘ZrdéZ hdoV ‘mam H$aUmao jonUmó Amho
~) Ho$ 4 - ho A[ah§Vbm ~gdbo OmUmao EH$ ~°bopñQ>H$ jonUmó Amho
H$) AmH$me - hm O{‘Zrdê$Z hdoV ‘mam H$aUmè`m, aS>maZo ¶wº$ Aem 4 ‘Ü`‘ n„²̀ mÀ¶m jonUmóm§Mm g‘yh Amho
S>) ZmJ - ho W‘m}gopÝg{Q>ìh jonUmó AgyZ Vo nmU~wS>çm§da dmnabo OmD$ eH$Vo
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A),(~) Am{U (H$) 3) (A),(~) Am{U (S>) 4) (A),(~), (H$), (S>)

5) Which of the following pairs are correctly matched?

a) Barak-8 – It is long range surface to air missile attached to frigates

b) K-4 – It is a Ballistic missile which will be fitted to Arihant

c) Akash – It is a group of four medium range surface to air missile along with a radar

d) Nag – It is thermo sensitive missile, it can be used against submarines

Answer option :

1) (a) and (b) only 2) (a), (b)  and (c) 3) (a), (c) and (d) 4) (a), (b), (c), (d)

6) "" ^maVmÀ¶m Bâ’$sMo ñWm¶r ¶O‘mZmnX {‘imbobo amÁ¶, ‘mo’$V nmUr ¶moOZm gwê$ H$aUmao n{hbo amÁ¶, ^maVmVbo n{hbo
ao~rO ‘wº$ amÁ¶, ¶oWrb Imobm {‘Mubm "OrAm¶ Zm‘m§H$Z' àmá Pmbobo amÁ¶.'' ho dU©Z Imbrbn¡H$s H$moUË¶m amÁ¶mer
g§~§{YV Amho ?
1) ‘hmamï´> 2) Jmodm 3) Ho$ai 4) {X„r

6) “Permanent host state for IIFI of India,  first state to start free water scheme, first rabies free state

in India, Khola Mirchi here has received  GI nomination” This description relates to which of the

following states?

1) Maharashtra 2) Goa 3) Kerala 4) Delhi

7) A¶mo½¶ H$WZ/Zo AmoiIm.
A) Am§Vaamï´>r¶ ~wH$a nm[aVmo{fH$ qOH$Umao Q>m°å~ Am°’$ g°ÊS> ho EImÚm ^maVr¶ ^mfoV {b{hbobo n{hbo nwñVH$ Amho.
~) JrVm§Obr lr ¶m§Zr {b{hboë¶m Am{U S>ogr am°H$dobZo AZwdm{XV Ho$boë¶m Q>m°å~ Am°’$ g°ÊS> ¶m AZwdm{XV J«§Wmbm

2022 Mm Am§Vaamï´>r¶ ~wH$a nwañH$ma {‘imbm.
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ ~ 3) A d ~ XmoÝhr 4) darbn¡H$s Zmhr
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7) Select the incorrect sentences.

a) Tomb of Sand is the first book originally written in any Indian language to win the International

Booker Prize.

b) Tomb of Sand, written by Geetanjali Shree and translated by Daisy Rockwell, won the 2022

International Booker Prize for translated fiction.

Answer options:

1) Only a 2) Only b 3) Both a and b 4) None of the above

8) amï´>r` dm¶y JwUdÎmm {ZX}em§H$mÀ`m g§X^m©V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) ñdÀN> ^maV A{^`mZm§VJ©V hm {ZX}em§H$ 2011 ‘Ü ò gwê$ H$aÊ`mV Ambm
~) hm ''EH$ H«$‘m§H$- EH$ a§J- EH$ dU©Z'' åhUyZ aoIm§{H$V Ho$bm Jobobm {ZX}em§H$ Amho.
H$) gÚ {ZX}em§H$ 12 àXyfH$m§da AmYm[aV Amho
S>) 401-500 À`m Xaå`mZMr hdm JwUdÎmm loUr J§̂ ra à^md Q>mH$Umar ‘mZbr OmVo.
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A),(~) Am{U (H$) 3) (~),(H$) Am{U (S>) 4) (A),(~), (H$), (S>$)

8) Which of the following statements are correct regarding National Air Quality Index?

a) This Index was launched in the year 2014 under Swatchh Bharat Abhiyan

b) It is outlined as One Number- One Colour- One Description.

c) The current measurement index is based on 12 pollutants

d) Air Quality Range index ranging between 401-500 is considered as severe impact

Answer option :

1) (a) and (b) only 2) (a), (b)  and (c) 3) (b), (c) and (d) 4) (a), (b), (c), (d)

9) ''amï´>r` O§VZmeH$ {XZm'' g§X^m©V Imbrbn¡H$s H$moUVr {dYmZ/Zo MyH$ Amho/V?
A) H¥$‘r g§gJm©~Ôb OmJê$H$Vm {Z‘m©U H$aÊ`mgmR>r g§nyU© ^maV^a gmOam Ho$bm OmUmam hm {Ûdm{f©H$ H$m ©̀H«$‘ Amho.
~) O§VamoJmg ‘¥Xm àgm[aV hopë‘§W {dH$ma Agohr åhUVmV
H$) OmJ{VH$ Amamo½` g§KQ>ZoZo CnMmamgmR>r Aë~|S>mPmob Q>°ãboQ>Mm dmna H$aÊ`mg ‘mÝ`Vm {Xbr Amho.
n¶m©¶r CÎmao …
1) (A)  ’$º$ 2) (A) Am{U (H$) 3) (~) Am{U (H$) 4) (A), (~) Am{U (H$)

9) Which of the following statements are correct regarding National Deworming Day?

a) This is a Biannual event celebrated across India to create awareness about worm infections.

b) This is also known as Soil Transmitted Helminths

c) The World Health Organization has approved the use of Albendazole Tablet for the treatment.

Answer option :

1) (a)   only 2) (a) and (c) 3) (b) and (c) 4) (a), (b) and (c)

10) Imbrbn¡H$s H$moUVr OmoS>r nwañH$mam~m~V `mo½` Amho/V?
(A) àYmZ‘§Ìr amï´>r` ~mb nwañH$ma nwañH$ma ‘{hbm Am{U ~mbH$ë`mU ‘§Ìmb`mÛmao {Xbo OmVmV
(~) gm§ñH¥${VH$ ‘§Ìmb` ZmJar nwañH$ma (nÙ nwañH$ma) Kmo{fV H$aV.o
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (~) ’$º$
3) XmoÝhr (A) Am{U (~) 4) XmoÝhrhr (A) qH$dm (~) Zmhr
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10) Which of the following pairs is/are correct regarding awards?

(A) Pradhan Mantri Rashtriya Bal Puraskar awards are instituted by the Ministry of Women and

Child Welfare

(B) Ministry of Culture declares the Civilian awards (Padma Awards)

Answer Options :

1) (a)  only 2) (b) only 3) Both (a) and  (b) 4) Neither (a) nor  (b)

11) ^maV gaH$maÀ`m IM© {d^mJmÛmao ñWmnZ H$aÊ`mV Amboë`m ZmJar ñWm{ZH$ g§ñWm gwYmaUm nyU© H$aUmao Jmodm ho ghmdo
amÁ` R>abo. BVa nmM amÁ ò H$moUVr?
1) Am§Y« àXoe, H$Zm©Q>H$, Ho$ai, JwOamV Am{U ‘hmamï´>
2) Ho$ai, npíM‘ ~§Jmb, Amo{S>em, {~hma Am{U PmaI§S>
3) N>ÎmrgJS>, Amo{S>em, {h‘mMb àXoe, n§Om~ Am{U AéUmMb àXoe
4) Am§Y« àXoe, Vob§JUm, ‘Ü` àXoe, amOñWmZ Am{U {Ìnwam

11) Goa has become the sixth state to complete the Urban Local Bodies Reforms which were set up

by Department of Expenditure, Government of India. Which are the other five states?

1) Andhra Pradesh, Karnataka, Kerala, Gujarat and Maharashtra

2) Kerala, West Bengal, Odisha, Bihar and Jharkhand

3) Chhattisgarh, Odisha, Himachal Pradesh, Punjab and Arunachal Pradesh

4) Andhra Pradesh, Telangana, Madhya Pradesh, Rajasthan and Tripura

12) ......... hr n{hbr ImOJr ^maVr` H§$nZr Amho {OZo ^maVmV gm°{bS> àmonëeZ am°Ho$Q> B§{OZ ZmdmMr `eñdr MmMUr
KoVbr.
1) ñH$m`ê$Q> Eamoñnog, H$bm‘-5 2) ñH$m`ñnog Eamo {gñQ>åg, {dO`-1
3) SSRY, {dH«$‘-5 4) darbn¡H$s H$mhrhr Zmhr

12) ........... is the first private Indian company which successfully testfired a solid propulsion rocket

engine named .

1) Skyroot Aerospace, Kalam-5 2) Skyspace Aero systems, Vijay-1

3) SSRY, Vikaram-5 4) None of the above

13) ẁZm`Q>oS> ZoeÝg ẁ{Zìh{g©Q>rÀ`m 'EqOJ S°>åg BZ X dëS>©' `m AhdmbmZwgma ^maVmVrb ....... ‘moR>r YaUo.........
gmbr 50 df} nyU© H$aVrb.
1) 1115, 2025 2) 105, 2030 3) 14, 2025 4) darbn¡H$s H$mhrhr Zmhr

13) According to the report of United Nations University on ‘Ageing Dams in the world’ ............

number of large dams in India would complete 50-year-mark during ............year.

1) 1115, 2025 2) 105, 2030 3) 14, 2025 4) None of the above

14) ''ehrX {Xdg'' Xadfu 30 OmZodmar amoOr .......... `m§À`m nwÊ`{VWrbm gmOam Ho$bm OmVmo.
1) ^JVqgJ 2) M§ÐeoIa AmPmX 3) IwXram‘ ~mog 4) ‘hmË‘m Jm§YrOr

14) Shaheed Diwas is observed on 30th January of every year, on the death anniversary of ..........

1) Bhagat Singh 2) Chandra Shekhar Azad

3) Khudiram Bose 4) Mahatma Gandhi
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15) àYmZ‘§Ìr {H$gmZ D$Om© gwajm Ed‘ CËWmZ ‘hm{^`mZ (nrE‘-Hw$gw‘) `moOZoMo C{Ôï> ho Amho..........
1) eoVr joÌmMo {S>Pobdarb Adb§{~Îd Zmhrgo H$aUo 2) OmñV CËnmXZ XoUmè`m {~`mUm§Mm nwadR>m
3) IVm§Mm nwadR>m 4) ŷ{‘hrZmZm {dÎm nwadR>m

15) The objective of Pradhan Mantri Kisan Urja Suraksha evam Utthaan Mahabhiyan (PM-KUSUM)

Scheme is to .

1) De-dieselise the farm sector 2) Supply of high yielding seeds

3) Supply of fertilizers 4) Credit supply to landless

16) Imbrb {dYmZo {dMmamV ¿`m:
A) {ZdS>UwH$sV ‘VXmZ H$aÊ`mMm A{YH$ma hm ‘yb ŷV A{YH$ma Zmhr qH$dm gm‘mÝ` H$m`ÚmZwgma h¸$ Zmhr.
~) Vwé§JmVyZ H¡$Xr nmoñQ>b ~°boQ>Ûmao ‘VXmZ H$ê$ eH$VmV.
darbn¡H$s H$moUVo {dYmZ/Zo MwH$sMo Amho/AmhoV?
1) (A) ’$º$ 2) (~) ’$º$
3) XmoÝhr (A) Am{U (~) 4) XmoÝhrhr (A) qH$dm (~) Zmhr

16) Consider the following statements:

a) Right to cast a vote in elections is neither a fundamental right nor a right under common law.

b) Prisoners can cast their vote from jails through postal ballot.

Which of the above statements is/are incorrect?

1) (a)  only 2) (b) only 3) Both (a) and  (b) 4) Neither (a) nor  (b)

17) ^maVr` g§{dYmZ Imbrbn¡H$s H$moUË`m nÕVrZo amÁ`mÀ`m {d{dY KQ>H$m§Mo H$m`m©Ë‘H$ n¥W¸$aU H$aVo?
A) amï´>nVr qH$dm amÁ`nmb ho Ë`m§Mo H$m`m©b¶rZ A{YH$ma Am{U H$V©ì ò ~OmdUo Am{U A§‘b~OmdUr g§X^m©V

H$moUË`mhr Ý`m`mb`mbm CÎmaXm`r AgUma ZmhrV.
~) g§gX Am{U {d{Y‘§S>imVrb H$m ©̀dmhrÀ`m d¡YVoda H$moUË`mhr Ý`m`mb`mV àl²Z{MÝh CnpñWV Ho$bo OmD$ eH$V

Zmhr.
H$) Ý`m`mYrem§Zm H$mTy>Z Q>mH$Ê`mMr H$m ©̀dmhr gwê$ Agë`m{edm` g§gX Ý`m`mYrem§À`m dV©Zmda MMm© H$ê$ eH$V Zmhr.
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (A) Am{U (~) ’$º$ 3) (A), (~) Am{U (H$) 4) (~) Am{U (H$) ’$º$

17) The Constitution of India lays down a functional separation of the organs of the State in which of

the following manner ?

a) The President or the Governor shall not be answerable to any court for the exercise and per-

formance of the powers and duties of his office.

b) The validity of proceedings in Parliament and the Legislatures cannot be called into question

in any Court.

c) Parliament cannot discuss the conduct of the judges except when the proceeding to remove a

judge is being carried out.

Answer Options :

1) (a)  only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only



For Private Circulation Only

(7)

18) amÁ¶KQ>ZoÀ¶m AH$amì¶m ¶mXr‘Ü¶o n§Mm¶Vr amO g§ñWm§Zm Imbrbn¡H$s H$moUË¶m {df¶mÀ¶m g§X^m©V {ZU©¶ KoÊ¶mMo
A{YH$ma ZmhrV?
1) gm‘m{OH$ dZrH$aU d dZeoVr, bKwCÚmoJ 2) J«m‘moÚmoJ, J«m‘rU Ka~m§YUr, {nÊ¶mMo nmUr
3) àmW{‘H$ d ‘mÜ¶{‘H$ emim, Vm§{ÌH$ à{ejU 4) Cƒ {ejU, Xÿag§Mma, amÁ¶ n[adhZ

18) In the 11th schedule of the Constitution, Panchayati Raj institutions do not have powers to take

decisions regarding which of the following subjects ?

1) Social forestry and Agro forestry, Small scale industries

2) Village industry, Rural housing, Drinking water

3) Primary and Secondary schools, Technical Training

4) Higher education, Telecommunications, State Transport

19) Oa amÁ¶ bmoH$godm Am¶moJmMo AÜ¶j AZwnpñWV Agë¶m‘wio Ë¶m§À¶m nXmMr H$V©ì¶o nma nmS>Ê¶mg Ag‘W© AgVrb,
Va Vo éOy hmoB©n¶ªV Ë¶m [aº$ amhUmè¶m nXmda Am¶moJmÀ¶m AÝ¶ gXñ¶m§n¡H$s EH$mMr {Z¶wº$s H$moUmH$Sy>Z H$aÊ¶mV ¶oVo?
1) emgZmMo ‘w»¶ g{Md 2) amÁ¶ bmoH$godm Am¶moJmMo AÜ¶j
3) ‘w»¶‘§Ìr 4) amÁ¶nmb

19) If the Chairman of the State Public Service Commission is unable to perform the duties of his

office due to his absence, by whom one of the other members of the Commission is appointed to

fill the vacant post until he joins?

1) Chief Secretary to Govt       2) Chairman of State Public Service Commission

3) Chief Minister             4) Governor

20) ""g§gXoV àdoe KoÊ¶mgmR>r ‘mJrc XmamMm dmna H$aUo, åhUOo amÁ¶g ôMo gXñ¶ hmoUo hmo¶"" Ago H$moUr åhQ>co Amho?
1) {~ ŷVr {‘lm 2) n§{S>V Odmhacmc Zohê$    3) S>m°. ~r. Ama. Am§~oS>H$a     4) ‘moamaOr XogmB©

20) Who has said, "Using the back door for entering in parliament means becoming a member of the

Rajya Sabha ?

1) Bibhuti Mishra 2) Pandit Jawaharlal Nehru

3) Dr. B. R. Ambedkar 4) Morarji Desai

21) _hmamï´> amÁ`mVrc VmcwH$m n§Mm`V g{_Vr hr ........
A) {Oëhm n[afX d J«m_n§Mm`V `mVrc Xwdm Amho. ~) ñdm`Îm Zmhr nU H$m`Xoera g§ñWm Amho.
H$) {dH$mg H$m`m©V OZgh^mJ KS>{dUmar Amho. S>) nwaogo A{YH$ma d Am{W©H$ {ZYr Agcocr g§ñWm Amho.
darc {dYmZm§n¡H$s -
1) \$º$ "A' AgË` Amho. 2) "A' d "~' AgË` AmhoV.
3) "A', "~' Am{U "H$' AgË` Amho. 4) \$º$ "S>' AgË` Amho.

21) Taluka Panchayat Samiti in Maharashtra state is ......

a) the link between Zilla Parishad and Gram Panchayat

b) It is not autonomous but legal institution.

c) ensures peoples participation in developmental work

d) an Institution with adequate authority and sufficient funds

Answer Options :

1) Only (a) is not true 2) Only (a) and (b) are not  true

3) (a), (b) and (c) are not true 4) Only (d) is not true
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22) ‘hmamï´> gwdU©O¶§Vr ZJamoËWmZ ‘hm{^¶mZm§VJ©V H$moUH$moUË¶m g§ñWm§Mm g‘mdoe Zmhr?
A) ZJan[afXm, ZJan§Mm¶Vr
~) ZJan[afXm, ZJan§Mm¶Vr, d S> dJ© ‘hmZJanm{cH$m
H$) gd© ‘hmZJan[cH$m
n¶m©¶r CÎmao …
1) ’$³V A 2) ’$³V ~ 3) A d ~ XmoÝhr MyH$ 4) darc EH$hr Zmhr

22) Which of the following institutions is NOT included in the Maharashtra Suvarna Jayanti

Nagarotthana Mahaabhiyan ?

a) City Council, Nagar Panchayat

b) City Council, Nagar Panchayat and D class Minicipal Corporation

c) All Minicipal Corporations

Answer Options :

1) Only (a) 2) Only (b) 3) (a) and (b) are wrong   4) None of the above

23) Imbrb {dYmZm§Mo ‘yë`‘mnZ H$am d ¶mo½¶ n¶m©¶ emoYm :
A) KQ>ZmË‘H$ g§ñWm : KQ>ZmË‘H$ g§ñWm `m ^maVmVrb ‘hÎdmÀ`m g§ñWm AgyZ Ë¶m§Zm ^maVr` g§{dYmZmVyZ Ë`m§Mo

A{YH$ma Am{U A{YgÎmm àmá hmoVo. Ë`m§Mm amÁ`KQ>ZoV {deof C„oI Ho$bm AgyZ Ë`m§À`mgmR>r Img g‘{n©V
AZwÀN>oX AmhoV. {dÎm Am`moJ, ỳnrEggr, {ZdS>UyH$ Am`moJ, H°$J `mgma»`m ‘hÎdmÀ`m g§{dYZmË‘H$ g§ñWm hmoV.

~) d¡Ym{ZH$ g§ñWm :  Ë`m§Mr {Z{‘©Vr g§gX qH$dm {d{Y‘§S>i ¶m§Zr Ho$boë¶m H$m`ÚmÛmao Ho$br OmVo.  CXmhaUmW©,
{gŠ ẁ[aQ>rO A±S> EŠgM|O ~moS>© Am°’$ B§{S>`m (go~r), amï´>r` H$m`Xm Am`moJ, EZEMAmagr, ̀ w{ZH$ Am`S|>{Q>{’$Ho$eZ
AWm°[aQ>r Am°’$ B§{S>`m ( ỳAm`S>rEAm`).

n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (~) ’$º$
3) XmoÝhr (A) Am{U (~) 4) XmoÝhrhr (A) qH$dm (~) Zmhr

23) Evaluate the statements.

a) Constitutional Bodies : Constitutional bodies are important bodies in India that derive their

powers and authorities from the Indian Constitution. They are specifically mentioned in the

Constitution, meaning they have dedicated articles. Important bodies such as the Finance

Commission, the UPSC, the Election Commission, the CAG

b) Statutory Bodies :  They are created by an Act of Parliament. Or the legislature. For exam-

ple, the Securities and Exchange Board of India (SEBI), National Law Commission, NHRC,

Unique Identification Authority of India (UIDAI)

Answer Options :

1) (a)  only 2) (b) only 3) Both (a) and  (b) 4) Neither (a) nor  (b)

24) g§{dYmZmÀ¶m 25 ì¶m H$b‘mZwgma "qhXÿ' ¶m eãXmo„oImV Imbrbn¡H$s H$moUË¶m Y‘m©Mr CnmgZm H$aUmè¶m ì¶º$s¨Mm
g‘mdoe Amho ?
1) ’$º$ qhXÿ d ~m¡Õ 2) ’$º$ {h§Xÿ, O¡Z d ~m¡Õ
3) qhXÿ, erI, O¡Z d ~m¡Õ 4)  qhXÿ, erI, O¡Z, ~m¡Õ d gZmVZ

24) According to Article 25 of the Constitution, the term "Hindu" includes persons who worship

which of the following religions?

1) Hindus only 2) Hindus, Jains and Buddhists only

3) Hindus, Sikhs, Jains and Buddhists 4)  Hindus, Sikhs, Jains,  Buddhists and sanatan
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25) Cƒ Ý`m`mb`mÀ`m Ý`m`mYremMr noÝeZ ........ `m§VyZ AXm Ho$br OmVo.
1) ^maVmMm g§{MV {ZYr
2) Ë`m§Zr eodQ>Mr godm Ho$boë`m amÁ`mMm g§{MV {ZYr
3) Ë`m§Zr godm Ho$boë`m {d{dY amÁ`m§Mo g§{MV {ZYr
4) ^maVmMm AmH$pñ‘H$ {ZYr

25) The pension of a high court judge is charged to the ........

1) Consolidated Fund of India

2) Consolidated Fund of the state where he last served

3) Consolidated Funds of the different states where he has served

4) Contingency Fund of India

26) dgmhVr H$mimVrb Imbrb ~§S>m§Mm {dMma H$am Am{U Ë`m§Mr H$mbH«$‘mZwgma ‘m§S>Ur H$am:
a) H$mob ~§S> b) g§Wmb ~§S> c)  ‘w§S>m ~§S> d) g§Ý`mgr ~§S>
n¶m©¶r CÎmao …
1) b - c - d -a 2)  d - a - b - c 3)  b - c - a - d  4)  d - b - c - a

26) Consider the following rebellions during colonial times and arrange them in chronological manner:

a) Kol Rebellions b) Santhal Rebellion c) Munda Rebellion d) Sanyasi Rebellion

Answer Options :

1) b - c - d -a 2)  d - a - b - c 3)  b - c - a - d  4)  d - b - c - a

27) ^maV gaH$ma H$m`Xm 1909 ~m~V Imbrb {dYmZ ~amo~a Zmhr?
1) ~m°å~o, ‘Ðmg Am{U n{l²M‘ ~§Jmb àm§VmV H$m ©̀H$mar n[afXm§Mr ñWmnZm Ho$br.
2) H|$Ð Am{U àm§V `m XmoÝhr {R>H$mUr "CnmÜ¶jm'Mo H$m`m©b` gwê$ Ho$bo.
3) Iè`m AWm©Zo àm{V{Z{YH$ ñdê$nmMo gaH$ma ñWmnZ H$aÊ`mV hm H$m¶Xm A`eñdr R>abm.
4) ‘wpñb‘, erI, ^maVr` p¼l²MZ, A±½bmo-B§{S>`Z Am{U ẁamo{n`Z bmoH$m§gmR>r gm§àXm{`H$ à{V{Z{YËd gwê$ Pmbo.

27) Choose the statement regarding the Government of India Act 1909 which is NOT correct ?

1) Created executive councils in the provinces of Bombay, Madras and West-Bengal.

2) Introduced the office of a ‘Vice-President’ at both the centre and the provinces.

3) Failed to establish representative form of government in its true sense.

4) System of communal representation was introduced for Muslims, Sikhs, Indian Christians,

Anglo-Indians and Europeans.

28) S>m°. ~m~mgmho~ Am§~oS>H$a ¶m§À¶m gm‘m{OH$ Am{U gmd©O{ZH$ H$m¶m©g nmqR>~m XoÊ¶mgmR>r Am°³Q>mo~a 1927 ‘Ü¶o
Imbrbn¡H$s H$moUr nwÊ¶mVrb ''H$m°Ý’$aÝg Am°’$ {S>àoñS> ³bmg ñQw>S>§Q>g''À¶m n[afXoV ^mfU Ho$bo hmoVo ?
1) ~°[añQ>a O¶H$a 2) lrYan§V {Q>iH$
3) {XZH$aamd OdiH$a 4) ‘hfu {d. am. qeXo

28) Who among the following addressed the Conference of Depressed Class Students in Pune in

October 1927 to support Dr. Babasaheb Ambedkar's social and public work?

1) Barrister Jayakar 2) Sridharpant Tilak

3) Dinkarrao Javalkar 4) Maharshi  V. R. Shinde
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29) O‘rZ ‘hgybàUmbr - joÌ g§X^m©V, Imbrb OmoS>çm {dMmamV ¿`m : :
a) H$m`‘ñdê$nr goQ>b‘|Q>-  ~§Jmb Am{U {~hma
b) ‘hmbdmar àUmbr - ‘Ðmg Am{U ~m°å~o
c) a`Vdmar goQ>b‘|Q> - dm¶ì¶ àm§V Am{U n§Om~
darbn¡H$s H$moUVr OmoS>r/S>çm ~amo~a Owibr/boë¶m ZmhrV.
1) ’$º$  a 2) ’$º$ b Am{U  c 3) ’$º$ a Am{U  c 4) a, b Am{U  c

29) Consider the following pairs:

Land Revenue - Associated Areas System

a) Permanent Settlement - Bengal and Bihar

b) Mahalwari System - Madras and Bombay

c) Ryotwari Settlement  - North-West Provinces and Punjab

Which of the pairs given above is/are NOT correctly matched?

1) a only 2) b and c only 3) a and c only 4) a, b and c

30) Imbrbn¡H$s H$moUVr OmoS>r ~amo~a OwiV Zmhr?
1) ^maV ór ‘hm‘§S>i - gabm Xodr Mm¡YwamUr 2) boS>rO gmoeb H$m°Ý’$aÝg - n§{S>Vm a‘m~mB© amZS>o
3) Am ©̀ ‘{hbm g‘mO - n§{S>Vm a‘m~mB© gañdVr 4) ^maVmVrb amï´>r` ‘{hbm n[afX - XwJam~mB© Xoe‘wI

30) Which of the following pairs is NOT correctly matched?

1) Bharat Stree Mahamandal - Sarla Devi Chaudhurani

2) Ladies Social Conference - Pandita Ramabai Ranade

3) Arya Mahila Samaj - Pandita Ramabai Saraswati

4) National Council of Women in India - Dugrabai Deshmukh

31) bmoH$‘mÝ¶ {Q>iH$m§Zr ‘dmi ZoVo d H$m±J«og A{YdoeZmda Imbrbà‘mUo Q>rH$m Ho$br …
A) Iwem‘VImoam§Mm ‘oimdm ~) gaH$maMo Jwbm‘ H$) gwÅ>rVrb ‘Zmoa§OZ S>) ’$mdë¶m doimVbo H$m‘
darbn¡H$s ¶mo½¶ n¶m©¶ Imbrb OmoS>rVyZ {ZdS>m.
1) A Am{U H$ ~amo~a 2) ~ Am{U S> ~amo~a 3) A, ~ Am{U H$ ~amo~a 4) darb gd©

31) Lokmanya Tilak criticised the moderate leaders and Congress convention as:

a. Congress of Flatterers b. Slaves of Government

c. Entertainment of Holidays d. Work in spare time

Select the correct option from the above pair.

1) a and c correct 2) b and d correct 3) a, b and c correct 4) All of the above

32) O‘rZXmam§À¶m {ZfoYmW© 500 eoVH$è¶m§Zr Abmhm~mX‘Ü¶o ...... ¶m§À¶m ZoV¥ËdmImbr ‘moMm© H$mT>bm.
1) amOm ‘mohå‘X hmOr 2) d„^^mB© nQ>ob
3) A„xar {gVmam‘ amOy 4) ~m~m am‘M§Ð

32) 500 farmers took out a march in Allahabad to protest against the landlords under the leadership

of......

1) Raja Mohammed Haji 2) Vallabhbhai Patel

3) Alluri Seetarama Raju 4) Baba Ram Chandra
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33) AghH$ma Midir~amo~aM ‘hmË‘m Jm§YrOrZr Imbrbn¡H$s H$moUVm H$m¶©H«$‘ hmVr KoVbm?
A) ñdXoerMm àgma ~) qhXÿ-‘wñbr‘ EoŠ¶ H$) ‘ÚnmZ ~§Xr S>) Añn¥í¶Vm {ZdmaU
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (H$) Am{U (S>) ’$º$
3) (A), (~), Am{U (H$) ’$º$ 4) darb gd© ~amo~a

33) Which of the following programmes were started by Mahatma Gandhi with Non-cooperative

Movement ?

a) To Propagate Swadeshi b) Hindu - Muslim Unity

c) Prohibition of liquor d) Removal of Untouchability

Answer Options :

1) (a) and (b) only 2) (c) and (d) only

3) (a), (b) and (c) only 4) All the above

34) 1888 gmbr ga gæ¶X Ah‘Xm§Zr .......... ñWmnZm Ho$br.
1) ^maVr¶ Xoe^º$ g§K 2) ‘wñcr‘ e¡j{UH$ n[afX
3) ‘mohå‘S>Z {S>’o$Ýg Agmo{gEeZ Am°’$ Aßna B§{S>¶m 4) ‘mohå‘S>Z A±½bmo-Amo[aE§Q>c H$m°boO

34) In 1888, Sir Sayyad Ahmad founded the

1)  Indian Patriotic Association

2)  Muslim Educational Conference

3) Mohammedan Defence Association of Upper India

4)  Mohammedan Anglo-Oriental College

35) Imbrb {dYmZo {dMmamV ¿¶m Am{U Ë¶mn¡H$s MwH$sMo {dYmZ emoYm :
1) ZmJnya H$ama hm Zmoìh|~a 1953 ‘Ü¶o Pmbm Am{U Ë¶m‘wio ‘amR>r ^m{fH$m§Mo bJVÀ¶m àXoem§Mo {‘iyZ ‘hmamï´> amÁ¶

{Z{‘©Vrbm MmbZm {‘imbr.
2) ZmJnya H$amamVrb  VaVwXrZwgma ‘hmamï´> amÁ¶ {dYmZg ôMo Xadfu ZmJnya ¶oWo A{YdoeZ KoUo Amdí¶H$ hmoVo.
3) ‘w»¶‘§Ìr dm¶. ~r. MìhmU ¶m§À¶m ZoV¥ËdmImbr {Û^m{fH$ ‘§w~B© amÁ¶mMr ñWmnZm 1 ‘o, 1956 amoOr Pmbr.
4) Eg. E‘. Omoer ¶m§À¶m AÜ¶jVoImbr ^aboë¶m {d{dY njm§À¶m ~¡R>H$sV nwUo ¶oWo 6 ’o$~«wdmar, 1956 amoOr g§¶wº$

‘hmamï´> g{‘VrMr ñWmnZm Pmbr.
35) Consider the following statements and choose the correct answer :

1) The Nagpur Pact was concluded in November 1953 and it led to the creation of the State of

Maharashtrafrom contiguous Marathi speaking areas.

2) The most prominent clause of the Nagpur Pact required one session of the Maharashtra State

Assembly in Nagpur every year.

3) Bilingual Mumbai State was established on 1?? May, 1956 under the Chief Ministership of

Y.B. Chavan.

4) The meeting of various opposition parties presided over by S.M. Joshi formed Samyukta

Maharashtra Samiti in Pune on 6t February, 1956.
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36) nwT>rbn¡H$s H$moUVr dm³¶o MyH$ AmhoV?
a) h¡Xam~mX g§ñWmZmV {Ibm’$V MidirMm àMma H$aUmao n§{S>V VmamZmW ho n{hbo hmoVo.
b) ‘amR>dmS>çmVrb ‘wgb‘mZm§da {Ibm’$V MidirMm n[aUm‘ Pmbm hmoVm.
c) h¡Xam~mXÀ¶m {ZPm‘mZr g^m KoÊ¶mda ~§Xr KmbUmam hþHy$‘ H$mT>bm hmoVm.
n¶m©¶r CÎmao …
1) H$moUVohr dm³¶ MyH$ Zmhr. 2) gd© dm³¶o MyH$ AmhoV.
3) ’$º$ (a) Am{U (b) MyH$ AmhoV. 4) ’$º$ (b) Am{U (c) gË¶ AmhoV.

36) Which of the following sentences are NOT true?

a) Pandit Taranath was the first person to spread the Khilafat movement in the princely state of

Hyderabad

b) Muslims from Marathwada were influenced by the Khilafat Movement

c) The Nizam of Hyderabad ordered a ban on holding meetings.

Answer Options :

1) None of the sentences are untrue 2) All the sentences are not true

3) Only (a) and (b) are not  true 4) Only (b) and (c) are not true

37) B.g. 1941 ‘Ü¶o ...... ¶m§Zr amï´>godm XbmÀ¶m ñWmnZoV gh^mJ KoVb Zmhr.
a) Eg. Eg. Omoer b) {eê$^mD$ {b‘¶o c) EZ. Or. Jmoao d) e§H$aamd Xod
n¶m©¶r CÎmao …
1) (a) Am{U (d) ’$º$ 2) (d) ’$º$ 3) (a) Am{U (c) ’$º$ 4) (c) Am{U (d) ’$º$

37) In 1941 -------- did not take part in the foundation of the Rashtraseva Dal.

a) S. S. Joshi b) Shirubhau Limaye c) N. G. Gore d) Shanakararao Deo

Answer Options :

1) Only (a) and (d) 2) Only (d) 3) Only (a) and (c) 4) Only (c) and (d)

38) ""{ejUm{edm¶ H$moUË¶mhr XoemMr CÞVr Pmcr Zmhr åhUyZ gº$sÀ¶m {ejUmMr ^maVmcm AË¶§V Amdí¶H$Vm Amho.""
Ago nwT>rc ì¶º$s¨n¡H$s H$moU åhUmco ?
1) N>ÌnVr emhÿ ‘hmamO 2) ‘hmË‘m Á¶moVramd ’w$co
3) H$‘©dra ^mD$amd nmQ>rc 4) ‘hfu Ym|S>mo H$oed H$d

38) Who among the following said, 'There is no progress without Education that is why India desparetely

needs compulsory Education

1) Chhatrapati Shahu Maharaj 2) Mahatma Jyotiba Phule

3) Karmaveer Bhaurao Patil 4) Maharshi Dhondo Keshav Karve

39) S>m°. ~m~mgmho~ Am§~oS>H$a ¶m§À¶m OS>UKS>Urda Imbrbn¡H$s H$moUË¶m {dMmad§Vm§Mm OmñV à^md hmoVm ?
A) Om°Z S>odo ~) ~aQ´>m§S> agob H$) hoam°ëS> bmñH$s S>) A°ÝQ>mo{ZAmo J«m‘ñH$s
n¶m©¶r CÎmao :
1) ’$º$ A ~amo~a 2) A, ~, H$ ~amo~a 3) ~, H$, S> ~amo~a 4) A, ~, H$ Am{U S> ~amo~a

39) Which of the following intellectuals had the greatest influence on the formation of Dr. Babasaheb

Ambedkar?

a) John Dewey b) Bertrand Russell c) Harold Laskey d) Antonio Gramsci

Alternative Answers:

1) Only A is correct 2) A, B, C are correct 3) B, C, D are correct    4) A, B, C & D are correct
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40) g`mOramd Jm`H$dmS> (1863-1939) `m§Zr ~S>moXm g§ñWmZmV nwT>rb AZoH$ gm‘m{OH$ gwYmaUm bmJy Ho$ë¶m hmoË¶m...
(A) ~mb{ddmh à{V~§YH$ H$m`Xm (~) ñWm{ZH$ ñdamÁ` g§ñWm H$m`Xm
(H$) qhXy {dYdm nwZ{d©dmh H$m`Xm (S>) gd© ZmJ[aH$m§Zm ‘mo’$V Am{U gº$sMo {ejU
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV/AmhoV?
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$) ’$º$
3) (~), (H$) Am{U (S>) 4) (A), (~), (H$), (S>)

40) Sayajirao Gaekwad (1863-1939) of Baroda state enacted a set of social reforms which includes....

(a) Infant Marriage Prevention Act (b) Local Self Government Act

(c) Hindu Widows Remarriage Act (d) Free and compulsory schooling to all citizens

Which of the statements given above is/ are correct?

1) (a) and (b) only 2) (a)  and (c) only

3) (b), (c) and (d) 4) (a), (b), (c), (d)

41) ¶wZoñH$moZo "OmJ{VH$ dmagm gyMr' ‘Ü¶o  ......... ¶m ñWimbm g‘m{dï> Ho$bobo Amho.
1) J«oQ> ~°[aAa [a’$ (àdmi IS>H$m§Mr am§J) 2) J«oQ> [aâQ> ìh°br (IMXar)
3) J«oQ> gm°ëQ> boH$ (Imè¶m nmÊ¶mMo gamoda) 4) J«oQ> ßb°Z (‘¡XmZr àXoe)

41) UNESCO had included this place in 'World Heritage List' .....

1) Great Barrier Reef 2) Great Rift Valley

3) Great Salt Lake 4) Great Plain

42) Imcrc {R>H$mUo nO©Ý¶ à‘mUmÀ¶m CVaË¶m H«$‘mZo cmdm :
A) ‘mWoamZ ~) A§~mocr H$) ‘hm~ioída S>) nmMJUr
n¶m©¶r CÎmao …
1) A, ~, H$, S> 2) ~, H$, S>, A 3) ~, H$, A, S> 4) H$, ~, A, S>

42) Arrange following places in the descendinng order of  precipitaion

a) Matheran b) Amboli c) Mahabaleshwar d) Pachagani

Answer Options :

1) a, b, c, d 2) b, c, d, a 3) b, c, a, d 4) c, b, a, d

43) Imbr {Xboë¶m§À¶m ¶mo½¶ OmoS>çm bmdm …
ZÚm CJ‘ñWmZo

a) H¥$îUm i) ~«÷{Jar S>m|Ja
b) JmoXmdar ii) ‘hmXod S>m|Ja
c) Vmnr iii) ‘¡H$b S>m|Ja
d) Z‘©Xm iv) gømÐr n¶ªV
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (ii) (iii) (i)

2) (iv) (i) (ii) (iii)

3) (iii) (iv) (ii) (i)

4) (i) (iv) (ii) (iii)
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43) Match the following suitable pairs :

River Rising place

a) Krishna i) Brahmagiri hill

b) Godawari ii) Mahadev hill

c) Tapi iii) Maikal hill

d) Narmada iv) Sahyadri Mountain

Answer options :

(a) (b) (c) (d)

1) (iv) (ii) (iii) (i)

2) (iv) (i) (ii) (iii)

3) (iii) (iv) (ii) (i)

4) (i) (iv) (ii) (iii)

44) Ooìhm Vwåhr X{jU ^maVmVyZ CÎma ^maVmH$S>o Omb Voìhm Vwåhmbm bmJUmè¶m AUwD$Om© àH$ënmMr H«$‘dmar .....
1) H¡$Jm, Vmamnya, H$mH«$mnma, amdV^mQ>m 2) H¡$Jm, H$mH«$mnma, amdV^mQ>m, Vmamnya
3) H¡$Jm, amdV^mQ>m, Vmamnya, H$mH«$mnma 4) amdV^mQ>m, H¡$Jm, Vmamnya, H$mH«$mnma

44) When you move from South India to North India the correct sequence of Nuclear Power Plant

you will get is :

1) Kaiga, Tarapur, Kakrapara, Rawat Bhata 2) Kaiga, Kakrapara, Rawat Bhata, Tarapur

3) Kaiga, Rawat Bhata, Tarapur, Kakrapara 4) Rawat Bhata, Kaiga, Tarapur, Kakrapara

45) OmoS>çm cmdm.
(I) amÁ` (II) n ©̀Q>Z ñWi

a) {h_mMc àXoe i) Aë_moS>m
b) CÎmamI§S> ii) ‘{S>Ho$ar
c) Am§Y«àXoe iii) ‘§S>r
d) H$Zm©Q>H$ iv) AZ§V{Jar
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (iii) (ii) (i) (iv)

3) (i) (ii) (iv) (iii)

4) (ii) (iv) (iii) (i)

45) Match the following

(I) State (II) Tourist Places

a) Himachal Prasesh i) Almoda

b) Uttarakhand ii) Madikeri

c) Andhra Pradesh iii) Mandi

d) Karnataka iv) Anantgiri

Answer Options :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (iii) (ii) (i) (iv)

3) (i) (ii) (iv) (iii)

4) (ii) (iv) (iii) (i)
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46) dm°bog bmB©Z hr ........ Amho.
1) ^maV Am{U Zonmi‘Yrb Am§Vaamï´>r` {d^mOZ aofm
2) {H$Zmar ‘¡XmZo Am{U X{jU nR>ma doJio H$aUmar aofm
3) X{jU nyd© Am{e`m Am{U Am°ñQó{b`mVrb {d{eï> dZñnVrg§nXm Am{U dÝ¶àmUrg§nXm doJio H$aUmar aofm
4) AQ>bm§{Q>H$ Am{U n°{g{’$H$ ‘hmgmJam§Zm {d^m{OV H$aUmar aofm

46) Wallace line is a  ........

1) An International divide between India and Nepal

2) Line separating coastal plains and south plateau

3) Line separating the distinct flora and fauna of South East Asia and Australia

4) Line dividing Atlantic and Pacific Oceans

47) OJmVrb gdm©V ‘moR>m ~hþ-ñVar`, ~hþCÔoer` Cngm qgMZ àH$ën "H$mbol²da‘,' ......... ZÚm§À`m g§J‘mda gwê$ hmoVmo.
1) JmoXmdar Am{U àmU{hVm 2) JmoXmdar Am{U dYm©
3) JmoXmdar Am{U n¡ZJ§Jm 4) JmoXmdar Am{U d¡ZJ§Jm

47) World’s largest multi-stage, multi-purpose lift irrigation project, ‘Kaleshwaram,’ starts at the

confluence point of the rivers .

1) Godavari and Pranahita 2) Godavari and Wardha

3) Godavari and Penganga 4) Godavari and Wainganga

48) Imbrbn¡H$s H$moUVr QóZ ImOJr H§$nÝ¶m§Zr ì¶dñWmnZ Ho$bobr n{hbr QóZ Amho?
1) {X„r-H$mbH$m ‘oKm EŠgàog 2) {X„r-M§XrJS> eVmãXr EŠgàog
3) {X„r-bIZm¡ VoOg EŠgàog 4) {X„r-‘w§~B© {~PZog EŠgàog

48) Which of the following trains is the first train  operated by the Private Players?

1) Delhi-Kalka Megha Express 2) Delhi-Chandigarh Shatabdi Express

3) Delhi–Lucknow Tejas Express 4) Delhi-Mumbai Business Express

49) n¥Ïdr~m~V Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
1) CîU H${Q>~§Y hm H$H©$d¥Îm Am{U A§Q>mpŠQ©>H$ dVw©imÀ`m Xaå`mZ pñWV Amho
2) g‘erVmoîU H${Q>~§Y hm H$H©$d¥Îm Am{U {dfwdd¥ÎmmÀ`m Xaå`mZ pñWV Amho
3) erV H${Q>~§Y hm AmpŠQ©>H$d¥Îm Am{U CÎma Y«wdmÀ`m Xaå`mZ pñWV Amho
4) CnmoîU H${Q>~§Y hm {dfwdd¥ÎmmÀ`m XmoÝhr ~mOybm 100 Ajd¥ÎmmXaå`mZ pñWV Amho

49) Which of the following statements is  correct regarding Earth?

1) The torrid zone is located between the tropic of Cancer and Antarctic circle

2) Temperate zone is located between the tropic of Cancer and Equator

3) The Frigid zone is located between the Arctic circle and the North Pole

4) The Subtropical zone is located along the both sides of equator upto 100 lattitude
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50) Imbrb `mXr-I bm `mXr-II er Owidm
        `mXr-I `mXr-II

1.  A°‘oPm°Z ZXr a. noê$ Am{U ~«mPrb
2.  n°Q>mJmo{Z`m dmid§Q> b. AO]{Q>Zm
3.  goZoB© ÛrnH$ën c. B{Oá
4.  hmo‘w©PMr gm‘wÐYwZr d. ỳEB© Am{U BamU doJio H$aVo
n¶m©¶r CÎmao …

(1) (2) (3) (4)

1) (b) (c) (d) (a)

2) (a) (b) (c) (d)

3) (d) (c) (a) (b)

4) (b) (d) (a) (c)

50) Match the following List-I with List-II

List-I List-II

1. Amazon River a. Peru and Brazil

2. Patagonia Desert b. Argentina

3. Senai Peninsula c. Egypt

4. Strait of Hormuz d. Separates UAE and Iran

Answer option :

(1) (2) (3) (4)

1) (b) (c) (d) (a)

2) (a) (b) (c) (d)

3) (d) (c) (a) (b)

4) (b) (d) (a) (c)

51) Imbrb Owidm:
     am°H$ amÁ`

A. g§J‘adar 1. {h‘mMb àXoe
~.  am°H$ gm°ëQ> 2. amOñWmZ
H$. ~ogmëQ> 3. H$Zm©Q>H$
S>. MwZIS>r 4. ‘hmamï´>
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (2) (3) (4) (1)

2) (3) (1) (2) (4)

3) (2) (1) (4) (3)

4) (1) (2) (3) (4)
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51) Match the following:

Rocks State

a. Marble 1. Himachal Pradesh

b. Rock Salt 2. Rajasthan

c. Basalt 3. Karnataka

d. Limestone 4. Maharashtra

Answer Options :

(a) (b) (c) (d)

1) (2) (3) (4) (1)

2) (3) (1) (2) (4)

3) (2) (1) (4) (3)

4) (1) (2) (3) (4)

52) Imbrbn¡H$s H$moUVr {R>H$mUo Am{U CËnmXZo ~amo~a OwiV Zmhr/V?
A) Hy$J© - H$m°’$s bmJdS> ~) nwbdm‘m - Ho$ea bmJdS>
H$) {MH$‘§Jiya - MhmMo ‘io S>) JmoXmdar - H$moH$mo ‘ù`mV
n¶m©¶r CÎmao …
1) (H$) ’$º$ 2) (~) Am{U (S>$) 3) (A),(H$) Am{U (S>) 4) (A) Am{U (~)

52) Which of the following pairs of places and products are NOT correctly matched?

a) Coorg - Coffee Plantation b) Pulwama - Saffron Cultivation

c) Chickmagalur - Tea plantation d)  Godavari - Cocoa plantation

Answer Options :

1) (c) only 2)  (b) and (d) 3) (a), (c) and (d) 4) (a) and (b)

53) Imbrb `mXr-I bm `mXr-II er Owidm
        `mXr-I `mXr-II

A. aº$mMm nmD$g 1. ^maV
~.  ‘Š`mMm nmD$g 2. OnmZ
H$. Am§~m em°da 3. BQ>br
S>.  ‘ZwH$m nmD$g 4. Am{’«$H$m
n¶m©¶r CÎmao …
1) A - 1, ~ - 2, H$ - 3, S> - 4 2) A - 3, ~ - 4, H$ - 1, S> - 2
3) A - 2, ~ - 3, H$ - 4, S> - 1 3) A - 4, ~ - 3, H$ - 2, S> - 1
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53) Match List-I with List-II:

List-I List-II

a. Blood Rain 1. India

b. Maize Rain 2. Japan

c. Mango Shower 3. Italy

d. Plum Rain 4. Africa

Answer Options :

(a) (b) (c) (d)

1) (4) (3) (1) (2)

2) (3) (2) (1) (4)

3) (2) (1) (4) (3)

4) (3) (4) (1) (2)

54) Imbrbn¡H$s H$moUVr OmoS>r ~amo~a Owibobr Zmhr?
A) H$mS>©‘‘ Q>oH$S>çm - H$moamo‘§S>b {H$Zmam ~) H¡$‘ya Q>oH$S>çm - H$moH$U {H$Zmam
S>) ‘hmXod {hëg - ‘Ü` ^maV S>) {‘H$sa {hëg - B©emÝ` ^maV
n¶m©¶r CÎmao …
1)  ~ ’$º$ 2) A, ~  ’$º$ 3) ~, S>$ ’$º$ 4) H$, S> ’$º$

54) Which of the following pairs is/are NOT correctly matched?

a) Cardamom Hills - Coromandel Coast b) Kaimur Hills - Konkan Coast

c) Mahadeo Hills - Central India d) Mikir Hills - North East India

Answer Options :

1) b only 2) a, b, only 3) b, d only 4)  c, d only

55) 2011 À`m OZJUZo~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) npíM‘ ~§Jmb ho ^maVmVrb gdm©V H$‘r eharH$aU Pmbobo amÁ` Amho
~) 2001-11 Xaå`mZ {Zìdi ehar bmoH$g§» òMr dmT> ^maVmVrb {Zìdi J«m‘rU bmoH$g§»¶m d¥Õrnojm OmñV hmoVr.
H$) {g¸$s‘ ho gdm©V H$‘r bmoH$g§» òMr KZVm Agbobo amÁ` Amho
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$) 3) (~) Am{U (H$) 4) (A), (~) Am{U (H$)

55) Which of the following statements are correct regarding census 2011?

a) West Bengal is the least urbanized state in India

b) The growth of absolute urban population was more than the absolute rural population in India

between 2001-2011

c) Sikkim is the lowest population density state

Answer option :

1) (a) and  (b)  only 2) (a) and (c) 3) (b) and (c) 4) (a), (b) and (c)
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56) ^maV gaH$maZo gwê$ Ho$boë`m "ñ‘mQ>© {gQ>r {‘eZ'‘Ü ò ‘hmamï´>mVrb AZoH$ eham§Mm g‘mdoe Amho. Ë¶m~m~V MwH$sMm
n`m©̀  {ZdS>m :
1) nwUo 2) H$moëhmnya 3) R>mUo 4) qnnar-qMMdS>

56) The following cities from Maharashtra are included in ‘SMART CITY Mission launched by the

Government of India. Choose the incorrect option :

1) Pune 2) Kolhapur 3) Thane 4) Pimpri-Chinchwad

57) Imbrbn¡H$s H$moUVr OmoS>r ~amo~a Owibr Amho?
A) ‘hgwbr VyQ> - bmoH$m§H$Sy>Z H$O© KoD$Z qH$dm {ZJwªVdUwH$sÛmao {ZYrnwadR>m
~) {dÎmr` VyQ> - {d{eîQ> H$mbmdYrVrb gaH$maMr àË¶j H$O}
H$) ‘wÐrH¥$V VyQ> - gaH$maZo ImOJr ~mOmamVyZ KoVbobr H$O}.
n¶m©¶r CÎmao …
1) (~) Am{U (H$) ’$º$ 2) (A), (~) Am{U (H$) 3) (H$) ’$º$ 4) (A) Am{U (~)

57) Which of the following pairs are correctly matched?

a) Revenue Deficit – Funded either through borrowings from the public or disinvestments

b) Fiscal Deficit – Actual Liability of the Government at certain point of time

c) Monetised Deficit – Borrowings made by the government from the private market.

Answer option :

1) (b) and (c) only 2) (a), (b) and (c) 3)  (c) only 4) (a) and  (b)

58) ^maVmVrb O‘rZ gwYmaUm§À`m ì`már‘Ü ò Imbrbn¡H$s H$emMm g‘mdoe ZgVmo?
A) ‘Ü`ñWm§Mo CƒmQ>Z ~) dmagm h¸$mZo O{‘ZrMr ‘mbH$s aÔ H$aUo
H$) ^mS>oH$ama gwYmaUm. S>) O{‘Zrda H$‘mb ‘`m©Xm Am{U ‘Obo
n¶m©¶r CÎmao …
1) A, ~$ Am{U S> ’$º$ 2) ~ Am{U S> ’$º$ 3) ~ Am{U H$  ’$º$ 4) ¶mn¡H$s Zmhr

58) The scope of land reforms in India entails which of the following ?

a) Abolition of intermediaries b) Abolition of ownership of land by inheritance

c) Tenancy reforms . d) Ceiling and floors on land holding

Answer Options :

1) a, b and d only 2) b and d only 3) b and c only 4) None of the above

59) Á¶m qH$_V {ZX}em§H$m_Ü ò àM{cV dfm©Mr _mÌm, ^ma åhUyZ {dMmamV KoVcr OmVo Ë`m {ZX}em§H$mcm ...... åhUVmV.
1) c°g{nAaMm {ZX}em§H$ 2) {\$eaMm AmXe© {ZX}em§H$
3) R>moH$ qH$_V {ZX}em§H$ 4) nmíMoMm {ZX}em§H$

59) Price Index in which current year's  quantity is considered a load  on the current year, is called..........

1) Lapseiyers Index 2) Fishers Index

3) Wholesale Price Index 4) Pashche's Index
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60) Imbrb `mXr-I bm `mXr-II er Owidm
        `mXr-I `mXr-II

`moOZm/g{‘Vr à‘wI {e’$magr
1) {dl²dol²daæ`m `moOZm A. eoVrH$Sy>Z Am¡Úmo{JH$sH$aUmH$S>o
2) ~m°å~o ßb°Z ~. ~m°å~oVrb à‘wI CÚmoJm§Ûmao àm`mo{OV
3) Jm§YrdmXr `moOZm H$. bKwCÚmoJ Am{U Hw$Q>ra CÚmoJ
4) Am{W©H$ H$m ©̀H«$‘ g{‘Vr (1947) S.> {Z`moOZ Am`moJmgmR>r {e’$mag
n¶m©¶r CÎmao …

(1) (2) (3) (4)

1) (b) (a) (c) (d)

2) (a) (d) (b) (c)

3) (a) (b) (d) (c)

4) (c) (b) (a) (d)

60) Match the following List-I with List-II:

List-I       List-II

Plans/Committees Major Recommendations

1. Visvesvaraya Plan a. Shifting from agriculture to Industrialization

2. Bombay Plan b. Sponsored by top industries of Bombay

3. Gandhian Plan c. Small-scale and cottage industries

4. Economic Programme Committee (1947) d. Recommended for Planning Commission

Answer option :

(1) (2) (3) (4)

1) (b) (a) (c) (d)

2) (a) (d) (b) (c)

3) (a) (b) (d) (c)

4) (c) (b) (a) (d)

61) nwT>rbn¡H$s H$moUVr/H$moUË¶m OmoS>r/OmoS>çm ¶mo½¶ Amho/AmhoV?
a) XoemV Xþgè`m§Xm eyÝ`mYm[aV AW©g§H$ën gmXa H$aUmao amÁ¶ -Am§Y«àXoe
b) hþ§S>mJ«ñV {ó`m§À`m nwZd©gZmÀ`m Ñï>rZo _hmamï´> amÁ` emgZmMr `moOZm - _mhoa `moOZm
c) Zdì`m n§Mdm{f©H$ `moOZoMo KmofdmŠ` -  gm_m{OH$ Ý`m` d g_mZVogh Am{W©H$ dmT>
n¶m©¶r CÎmao …
1) ’$º$ (a), (b) 2) ’$º$ (b), (c) 3) ’$º$ (c) 4) (a), (b), (c)

61) Which of the following pair / pairs is/are correct?

a) The stae using zero based budgeting for the second time - Andhra Pradesh

b) Maharashtra State Governments scheme regarding Rehabilitation of dowry victims - Maher

Yojana

c) Slogan of 9th five year plan - Economic Growth with Equity and Social Justice

Answer Options :

1) Only (a), (b) 2) Only (b), (c) 3) Only (c) 4)  (a), (b), (c)
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62) amÁ¶mV Am¡Úmo{JH$ joÌmVrb Jw§VdUyH$ dmT>{dÊ¶mgmR>r .............. H$m¶©H«$‘ am~{dbo OmV AmhoV.
a) ‘°¾o{Q>H$ ‘hmamï´> b) ‘oH$ BZ B§{S>¶m c) amoS> emo d) naXoe àdmg
Imbrbn¡H$s ¶mo½¶ n¶m©¶ {ZdS>m.
1) 'a', 'b', 'c' Am{U 'd' 2) 'a' Am{U 'b' 3) 'a', 'c' Am{U 'd' 4) 'a', 'b' Am{U 'c'

62) .............. programs are being implemented in the state to increase investment in the industrial

sector.

a) Magnetic Maharashtra b) Make in India

c) Road Show d) Foreign Travel

Choose the correct option from the following.

1) 'a', 'b', 'c' and  'd' 2) 'a' and  'b' 3) 'a', 'c' and  'd' 4) 'a', 'b' and  'c'

63) OmJ{VH$sH$aUmgmR>r WTO  Zo H$moUË¶m Amdí¶H$ AQ>r gwM{dcoë¶m AmhoV ?
A) ì¶mnmamgmR>r ^m¡Jmo{cH$ gr‘maofm§Mr ‘¶m©Xm ZgUo ~) ^m§S>dcmMr ‘wº$ hmcMmc
H$) V§ÌkmZmMm ‘wº$ àdmh S>) ‘mZdr l‘mÀ¶m Am§Vaamï´>r¶ ‘wº$ hmcMmcr
n¶m©¶r CÎmao :
1) ’$º$ A 2) ’$º$ ~ Am{U S> 3) ’$º$ A, ~ Am{U H$ 4) darbn¡H$s gd©

63) Which essential conditional have been suggested by WTO for globalization ?

a) No limit of geographical boundary for trade b) Free capital movement

c) Free flow of technology d) Free international movement of labour

Answer options :

1) a only 2) b and d only 3) a, b and c only 4) All of the above

64) dñVy  d godm§Mo dV©‘mZ CËnmXZ X dV©‘mZ qH$‘Vr = ........, Am{U dñVy d godm§Mo dV©‘mZ CËnmXZ X AmYma ŷV dfm©À`m
qH$‘Vr = ............
1) dmñV{dH$ GDP Am{U Zm‘‘mÌ GDP 2) Zm‘‘mÌ GDP Am{U dmñV{dH$ GDP

3) dmñV{dH$ GDP Am{U GVA 4) Zm‘‘mÌ GDP Am{U GVA

64) Current Production of Goods and Services X Current Prices = ........,  and Current Production of

Goods and Services X  Base year Prices =...........

1) Real GDP and Nominal GDP 2) Nominal GDP and Real GDP

3) Real GDP and GVA / Gross Value Added 4) Nominal GDP and GVA/Gross Value Added

65) Imbrbn¡H$s H$moUË`m n§Mdm{f©H$ `moOZoXaå`mZ ^maV gaH$maZo g|{Ð` eoVrMo CËnmXZ, àmoËgmhZ, ~mOmanoR> {dH${gV
H$aÊ`mgmR>r g|{Ð` eoVrda amï´>r` àH$ën am~{dbm?
1) Zddr `moOZm 2) Xhmdr `moOZm 3) AH$amdr `moOZm 4) darbn¡H$s H$mhrhr Zmhr

65) During which of the following Five-Year Plans did the government of India implement the Na-

tional Project on organic farming for production, promotion, market development of organic

farming in India?

1) Ninth Plan 2) Tenth Plan 3) Eleventh Plan 4) None of the above
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66) bmoH$g§»`m {na°{‘S> ~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
1) {na°{‘S> bmoH$g§» ò‘Ü ò nwéf S>mdrH$S>o Am{U {ó`m COdrH$S>o Xe©{dbo OmVmV.
2) X Ajmda, bmoH$g§» òMm AmH$ma Xe©{dbm OmVmo Am{U Y Ajmda d`moJQ> Xe©{dbm OmVmo
3) ^maVmMo bmoH$g§»`m Adb§{~Ëd à‘mU ho OJmÀ`m bmoH$g§» òÀ`m Adb§{~Ëd à‘mUmnojm H$‘r Amho.
4) darb gd©

66) Which of the following statements are correct regarding Population pyramid?

1) In a population pyramid males are represented in the left and females in the right.

2) On the X axis, population size is shown and age group is represented on the Y axis

3) India’s population dependency ratio is less than world’s population dependency ratio.

4) All of the above

67) dñVy Am{U godm H$am~Ôb Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
1) ho J§Vì`ñWmZmda AmYm[aV Amho 2) Vo CËnÎmrda AmYm[aV Amho
3) hm AàË`j H$a Amho 4) hm Cn^moJ H$a Amho

67) Which of the following statements is wrong about Goods and Services Tax?

1) It is destination-based 2) It is origin-based

3) It is an indirect tax 4) It is consumption tax

68) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) amï´>r` Ob‘mJ© H«$‘m§H$ 4 Am{U H«$‘m§H$ 5 AÚmn H$m ©̀aV Pmbobo ZmhrV
~) CÞVr àH$ën ^maVmVrb 12 à‘wI ~§Xam§er g§~§{YV Amho
H$) gmJa‘mbm H$m ©̀H«$‘m§VJ©V 2035 n ª̀V A§‘b~OmdUrgmR>r 500 àH$ën AmoiIbo Jobo AmhoV.
S>) {d{dY ZXr CnZÚm§‘Yrb amï´>r` Ob‘mJ© {dH${gV H$aÊ`mgmR>r goVy ^maV‘ àH$ën 2016 ‘Ü ò gwê$ Pmbm.
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (A) Am{U (S>) ’$º$ 3) (A), (~) Am{U (H$) 4) (~) Am{U (H$) ’$º$

68) Which of the following statements are correct?

a) National Waterways 4 and 5 are not yet operational

b) Project Unnati is related to 12 major ports of India

c) Under Sagarmala programme 500 projects have been identified for implementation up to 2035.

d) Setu Bharatam was launched in 2016 to develop the national waterways in various river

tributaries.

Answer option :

1) (d)  only 2) (a) and (d) only 3) (a), (b) and (c) 4) (b) and (c) only

69) Am‘ AmX‘r {d‘m `moOZo~m~V Imbrbn¡H$s H$moUVr {dYmZ/Zo MyH$ Amho/V?
A) `m `moOZoA§VJ©V J«m‘rU ŷ{‘hrZ Hw$Qw>§~ à‘wImMm {d‘m CVadbm OmVmo.
~) H|$Ð Am{U amÁ` gaH$mao g‘mZ à‘mUmV àr{‘`‘ ^aVmV.
H$) H$ìha Ho$bo OmUmao gXñ` 18 Vo 59 df} d`moJQ>mVrb Agmdo bmJVmV.
S>) {d‘mYmaH$mÀ¶m Z¡g{J©H$ ‘¥Ë ỳZ§Va Hw$Qw>§~mbm 30,000 én ò ^anmB© {‘iVo.
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (A) Am{U (H$) ’$º$  3) (~), (H$) Am{U (S>)    4) (A) Am{U (S>)
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69) Which of the following statements are correct regarding Aam Aadmi Bima Yojana?

a) Under this scheme the head of the rural landless household is insured.

b)The premium will be paid by the Central and State governments equally

c) The member to be covered should be aged between 18 and 59 years

d) On the natural death the family will get INR 30,000

Answer option :

1) (a)  only 2) (a) and (c) only 3) (b), (c) and (d) 4) (a) and (d)

70) ''‘Owar H$m`Xm 2019 "' ~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) hm H$m`Xm Xwgè`m amï´>r` H$m‘Jma Am`moJmÀ`m {e’$maetZwgma AmUÊ`mV Ambm.
~) ’$º$ ‘ZaoJm H$m‘JmaM `m A§VJ©V òVrb.
H$) Ag§K{Q>V joÌmVrb H$m‘Jma Ogo H$s H¥$fr H$m‘Jma, {MÌH$ma, T>mã`m§Mo H$m‘Jma, CnhmaJ¥ho Am{U Mm¡H$sXma

BË`mXtMm `m `moOZoV g‘mdoe Amho.
S>) Ho$di ‘m{gH$ AmYmamda H$m‘ H$aUmao H$‘©Mmar `m `moOZoV g‘m{dï> AmhoV
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$) ’$º$ 3) (~), (H$) Am{U (S>) 4) (A), (~), (H$), (S>)

70) Which of the following statements are correct regarding the Code on Wages 2019 Act?

a) This Act was brought as per the recommendations of 2nd National Commission on Labour.

b) Only MGNREGS workers will come under it.

c) Unorganized sector workers like agricultural workers, painters, workers of Dhabhas, restaurants

and chowkidars etc are covered under this scheme.

d) Only employees working on monthly basis are covered under this scheme

Answer option :

1) (a) and (b) only 2) (a)  and (c) only 3) (b), (c) and (d) 4) (a), (b), (c), (d)

71) {XZ‘mZ 12 Vmgmnojm H$‘r AgVmZm, ’w$bUmar Imbrb {nH$m§n¡H$s bKw-{Xdg dZñnVr H$moUVr?
1) gmIa ~rQ> 2) gỳ ©’y$b 3) gmò m~rZ 4) H$aS>B©

71)  Among the following crops, which is a short-day plant that flowers when the day length is less

than a certain critical length (< 12 hours) ?

1) Sugar beet 2) Sunflower 3) Soybean 4) Safflower

72) Imbrb `mXr-I bm `mXr-II er Owidm
pìhQ>°{‘ZÀ`m OrdZgÎdmMr H$‘VaVm R>aVo

A) pìhQ>°{‘Z S>r 1. Am°pñQ>Amonmoamo{gg
~) pìhQ>°{‘Z B© 2. AH$mbr d¥ÕËd
H$) pìhQ>°{‘Z ~r 2 3. ËdModa H«°$H$
S>) pìhQ>°{‘Z Ho$ 4. XwImnVr Xaå`mZ OmñV aº$ H$‘r hmoUo
n¶m©¶r CÎmao …

(1) (2) (3) (4)

1) (a) (b) (c) (d)

2) (a) (b) (d) (c)

3) (d) (c) (b) (a)

4) (c) (d) (a) (b)
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72) Match the following List-I with List-II

Vitamin Deficiency of vitamin leads to

a. Vitamin D 1. Osteoporosis

b. Vitamin E 2. Premature ageing

c. Vitamin B2 3. Cracks on Skin

d. Vitamin K 4. Excess loss of blood during injury

Answer Options :

(1) (2) (3) (4)

1) (a) (b) (c) (d)

2) (a) (b) (d) (c)

3) (d) (c) (b) (a)

4) (c) (d) (a) (b)

73) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Zmhr/ZmhrV?
A)Jmoda Am{U é~obm ho AË §̀V gm§g{J©H$ {OdmUyOÝ` amoJ AgyZ Vo g§H«${‘V ì`º$sÀ`m ImoH$ë`m‘wio Am{U qeH$Ê`mÛmao

ngaVmV.
~) H|$Ðr` Amamo½` Am{U Hw$Qw>§~ H$ë`mU ‘§Ìmb`mZo 9 ‘{hZo Vo 15 dfmªnojm H$‘r d`moJQ>mVrb Jmoda-é~obm bgrH$aU

‘mohr‘ gwê$ Ho$br Amho.
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (~) ’$º$
3) XmoÝhr (A) Am{U (~) 4) XmoÝhrhr (A) qH$dm (~) Zmhr

73) Which of the following statement/s is/are NOT correct?

a) Measles and Rubella are highly contagious bacterial diseases that are spread by contact with

an infected person through coughing and sneezing.

b) The Union Ministry of Health and Family Welfare has initiated Measles-Rubella vaccination

campaign in the age group of 9 months to less than 15 years.

Answer Options :

1) (a)  only 2) (b) only 3) Both (a) and  (b) 4) Neither (a) nor  (b)

74) ŠbmoqZJ~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) ‘mZdr ŠbmoqZJ ho Zm°Zgmo‘°{Q>H$ gobÛmao Ho$bo OmVo
~) gmo‘°{Q>H$ gob åhUOo ewH«$mUy Am{U A§S>r dJiVm earamVrb H$moUVrhr noer
H$) nwZéËnmXH$ ŠbmoqZJ‘Ü ò, ZdrZ V`ma Ho$bobm J ©̂ EH$m narjmZir ‘Ü ò R>odbm OmVmo.
S>) ŠbmoqZJÀ`m ~m~VrV ‘yb EH$mM nmbH$mnmgyZ OÝ‘mbm Ambo Amho Am{U Ë`mMm S>rEZE Amho
n¶m©¶r CÎmao …
1) (~) Am{U (S>) ’$º$ 2) (A) Am{U (H$) 3) (~) Am{U (H$) 4) (A), (~) Am{U (S>)

74) Which of the following statements are correct regarding Cloning?

a) Human Cloning is performed by the nonSomatic cell

b) A somatic cell means, any cell of the body except sperm and egg

c) In reproductive cloning, the newly created embryo will be placed in a test tube

d) In case of cloning the child is born of a single parent and carries his/her DNA

Answer option :

1) (b) and  (d)  only 2) (a) and (c) 3) (b) and (c) 4) (a), (b) and (d)



For Private Circulation Only

(25)

75) S>rEZE bgt~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) `m bgr ~°ŠQ>o[a`mÀ`m S>rEZEÀ`m bhmZ, JmobmH$ma VwH$S>çmnmgyZ ~Zboë`m AgVmV.
~) `m bgt‘Ü ò à{VOZ dmhÿZ ZoUmam {OdmUy DNA Mm VwH$S>m WoQ> ‘mZdmbm {Xbm OmVmo.
H$) Vo à{VOZ gmoS>Vo Oo Amnbr amoJà{VH$maH$ eº$s g{H«$` H$aVo.
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (A) Am{U (~) ’$º$ 3) (A), (~) Am{U (H$) 4) (~) Am{U (H$) ’$º$

75) Which of the following statements are correct regarding DNA Vaccines?

a) These vaccines are made up of a small, circular piece of bacterial DNA

b) In these vaccines a piece of bacterial DNA carrying antigen is directly given to human beings.

c) It releases antigen which activates our immune system.

Answer option :

1) (a)  only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only

76) dmè`mMm doJ ..... gh bjmV KoVbm OmD$ eH$Vmo.
A) knots ~) kmph H$) mps S>) mph

darbn¡H$s H$moUVo EH$H$ ~amo~a Amho/AmhoV?
1) A ’$º$ 2) ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) darb gd©

76) Wind speed may be noted with .....

a) knots b) kmph c) mps d) mph

Which of the above unit is/are correct ?

1) a only 2) b only 3) a, b and c only 4) All of the above

77) Imbrb {dYmZo {dMmamV ¿`m:
{dYmZ I : EAa ao{’«$OaoQ>a‘Ü ò hdoÛmao dmhÿZ Zobr OmUmar CîUVm Ho$di `mo½` CîUVoÀ`m ñdê$nmV AgVo.
{dYmZ II : åhUyZ, hdoÀ`m A{^gaUmMo dñVw‘mZ BVa ao{’«$Oa§Q> dmnaboë`m àUmbtnojm OmñV Amho.
{dYmZ III : åhUyZ, Amdûm`H$ hdoMo n[ag§MaU BVa ao{’«$Oa§Q> dmnaboë`m àUmbtnojm H$‘r Amho.
Imbrbn¡H$s `mo½` CÎma {ZdS>m:
1) {dYmZ I Am{U {dYmZ II ~amo~a Amho 2) {dYmZ II Am{U {dYmZ III ~amo~a AmhoV
3) {dYmZ I Am{U {dYmZ III ~amo~a AmhoV 4) ’$º$ {dYmZ I ~amo~a Amho

77) Consider the following statements :

Statement I : In an air refrigerator the heat carried by air is in the form of sensible heat only.

Statement II : Therefore, mass of air circulation required is more than other refrigerant used

systems.

Statement III : Therefore, mass of air circulation required is less than other refrigerant used

systems.

Select the correct answer from the following :

1) Statement I and Statement II are correct 2) Statement II and Statement III are correct

3) Statement I and Statement III are correct 4) Only Statement I is correct
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78) Ooìhm EImXr dñVy ÐdnXmWm©V A§eV… qH$dm nyU©nUo ~wS>dbr OmVo, Voìhm CÜd©gmaUmMm Omoa hm ...... BVH$m AgVmo.
1) dñVyÀ¶m dOZm 2) dñVyÛmao {dñWm{nV ÐdnXmWm©À¶m dOZm
3) dñVyÀ`m AmH$ma‘mZmBV³¶m ÐdnXmWm©À¶m dOZm 4) darbn¡H$s H$mhrhr Zmhr

78) When a body is immersed in a fluid, partially or completely, the force of buoyancy is equal to ...

1) the weight of the body.

2) the weight of the fluid displaced by the body.

3) the weight of the volume of the fluid equal to the volume of body

4) None of the above

79) 120 V Am{U 60 W Ago aoQ> Ho$boë`m BbopŠQ´H$ ~ë~‘YyZ dmhUmam {dÚwV² àdmh ...... Amho:
1) 2A 2) 7.2 A 3) 0.5 A 4) 1.5 A

79) The current flowing through an electric bulb rated 120 V, 60 W is :

1) 2A 2) 7.2 A 3) 0.5 A 4) 1.5 A

80) AmdV© gmaUrVrb H$mbI§S>mV S>mdrH$Sy>Z COdrH$S>o OmVmZm Imbrb Jmoï>t‘Ü ò KQ> hmoVo:
1) àW‘ Am`ZrH$aU D$Om© 2) na‘mUw MmO©
3) {dÚwV F$UmË‘H$Vm 4) YmVy JwUY‘©

80) As you go from left to right across a Period on the periodic table there is decrease in :

1) First ionization energy 2) Nuclear charge

3) Electronegativity 4) Metallic character

81) RDX ~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV/AmhoV?
A) RDXåhUOo am°̀ b {S>‘m°{beZ EŠgßbmo{Pìh Am{U [agM© {S>nmQ>©‘|Q> EŠgßbmo{Pìh
~) `mbm gm`ŠbmoZmBQ> qH$dm hoŠgmoOZ Agohr åhUVmV.
H$) RDX Mo amgm`{ZH$ Zmd 1, 3, 5-Q´>m¶Zm¶Q´>m°b-1, 3, 5-Q´>m¶{PZ Amho. hr EH$ nm§T>ar nmdS>a AgyZ Vr A{Ve`

ñ’$moQ>H$ Amho.
n¶m©¶r CÎmao …
1) (~) Am{U (H$) ’$º$ 2) (~) Am{U (S>) 3) (H$) ’$º$ 4) (A) Am{U (H$) ’$º$

81) Which of the following statements is/are correct regarding RDX?

a) RDX stands for Royal Demolition eXplosive and Research Department eXplosive

b) It is also known as cyclonite or hexogen.

c) The chemical name for RDX is 1, 3, 5-trinitro-1, 3, 5-triazine. It is a white powder and is very

explosive.

Answer option :

1) (b) and (c) only 2)  (b) and (d) only 3)  (c) only 4) (a) and  (c) only
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82) Imbrbn¡H$s H$moUVr gm‘J«r AUwB§YZ åhUyZ dmnabr OmVo/ZgVo?
A) ẁao{Z`‘ ~) {ego H$) Wmo[a`‘ S>) H«$mo{‘`‘
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (H$) ’$º$ 3) (A), (H$) Am{U (S>) 4) (A), (~), (H$), (S>)

82) Which of the following materials is/are not used as Atomic fuel?

a) Uranium b) Lead c) Thorium d) Chromium

Answer option :

1) (a) and (b) only 2) (c)  only 3) (a), (c) and (d) 4) (a), (b), (c), (d)

83) {gñQ>r‘m ZoMa hm J«§W àH$m{eV H$aUmè`m dJuH$aUemókmMo Zmd :
1) ~|W‘ Am{U hÿH$a 2) H$mb© {b{Z`g 3) B§½ba Am{U à±Q>b 4) AmW©a H«$m°Z{¹$ñQ>

83) Name taxonomist who published Systema Naturae :

1) Bentham and Hooker 2) Carl Linnaeus

3) Engler and Prantle 4) Arthur Cronquist

84) Imbrbn¡H$s H$moUVo gË` AmhoV?
A) E{n’$mBQ²g hr Aer PmS>o AmhoV Or Ë`m§Mo nmUr Am{U nmofH$ Ðì ò hdoVyZ {‘idVmV
~) hm`S´mo’$mBQ²g hr ’w$bm§Mr PmS>o AmhoV Or {Od§V nmÊ`mV ~wS>boë`m nmÊ`mer OwidyZ KoVmV
H$) {Pamo’$mB©Q²g hr Aer dZñnVr AmhoV Or h§Jm‘r qH$dm ~ma‘mhr XwîH$mimgmR>r XÎmH$ KoVbr OmVmV
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (A) Am{U (~) ’$º$ 3) (A), (~) Am{U (H$) 4) (~) Am{U (H$) ’$º$

84) Which of the following are true?

a) Epiphytes are plants that derive their water and nutrients from air

b) Hydrophytes are flowering plants adapted to living submerged water

c) Xerophytes are plants which are adopted to seasonal or perennial droughts

Answer Options :

1) (a)  only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only

85) Imcrc H$moUVo {dYmZ MwH$sMo  Amho?
1) OcMa àmÊ¶m§À¶m ídmgmoídmgmMr JVr OmñV AgVo.
2) OcMa ídgZmgmR>r nmÊ¶mV {daKicoë¶m Am°pŠgOZMm Cn¶moJ H$aVmV.
3) Am°pŠgOZ nmÊ¶m‘Ü¶o A{Ve¶ OmñV à‘mUmV {daKiVmo.
4) OcMa àmÊ¶m§Zm CncãY Agcocm Am°pŠgOZ hdoVrc Am°pŠgOZnojm Hy$n H$‘r AgVmo.

85) Which of the following statement sis incorrect?\

1) Aquatic animal has higher speed of respiration

2) For respiration an aquatic animals used water dissolved oxygen

3) In water Oxygen get dissolved in higher level.

4) Available oxygen for quatic animals in water is low as compare to Air
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86) nwT>o 5 {dYmZo Am{U Z§Va 3 {dYmZo {d{eï> H«$‘mZo EH$Ì H$ê$Z n¶m©¶ Owidbo AmhoV. Ë¶mVyZ Vm{H©$H$ÑîQ>çm ¶WmW©
¶w{º$dmX {ZX}{eV H$aUmam n¶m©¶ {ZdS>m. ¶w{º$dmX ¶WmW© R>aÊ¶mgmR>r OwiUrVrb 3 ao {dYmZ ho Ë¶m AmYrÀ¶m 2
{dYmZm§da AmYm[aV {ZîH$f© {dYmZ Agm¶bm hdo.
a) Q´>m¶Wbm°Z hm H«$sS>màH$ma V§XþéñVr ào[aV Amho. b) 'Am¶Z©‘°Z' hm bmoH${à¶ Q´>m¶Wbm°Z H«$sS>màH$ma Amho.
c) 'Am¶Z©‘°Z' hm V§XþéñVr ào[aV H«$sS>màH$ma Amho. d) 'Am¶Z©‘°Z' H$Xm{MV V§XþéñVr ào[aV H«$sS>màH$ma Amho.
e) V§XþéñVr ào[aV H«$sS>màH$mam‘Ü¶o Q´>m¶Wbm°Z bmoH${à¶ Amho.
n¶m©¶r CÎmao …
1) (b), (e), (c) 2) (b), (c), (e) 3) (c), (a), (d) 4) (b), (d), (a)

86) Given below are 5 statements followed by options composed of 3 statements put together in a

specific order. Choose the option that indicates logically valid argument. To be valid the 3rd

statement of the composition should be the conclusion based on preceding 2 statements.

(a)  Traithlon is fitness driven sports. (b)  ’Ironman’ is a popular triathlon.

(c)  ’Ironman' is fitness driven sports. (d)  ’Ironman’ may be fitness driven sports.

(e)  Among Fitness driven sports, Traithlon is popular.

Answer options :

1)  (b), (e), (c) 2)  (b), (c), (e) 3) (c),(a) (d) 4)  (b), (d), (a)

87) EH$m {d{eï> gm§Ho${VH$ ^mfoV, 'Ka Bi Pu Ya'  Mm AW© Amho    "Vy Iyn hþema Amho"; 'Ya Lo Ka Wo' Mm AW© Amho
"Vo Iyn hþema dmQ>VmV.; 'La Pu Le' Mm AW© "Vy nmhÿ eH$Vmo" d  'Sun Pun Yun Ya'  Mm AW© "Vr {H$Vr hþema Amho".
øm {d{eï> gm§Ho${VH$ ^mfoV "Amhog" hm AW© gm§JUmam eãX H$moUVm?
1) Ka 2) Bi 3) Le 4) Pu

87) In a certain code language, 'Ka Bi Pu Ya' means ' You are very intelligent'; 'Ya Lo Ka Wo' means

'They seem very intelligent; 'La Pu Le' means 'You can see' and 'Sun Pun Yun Ya' means ' How

intelligent she is'. In that code language, which of the words means 'are' ?

1) Ka 2) Bi 3) Le 4) Pu

88) 'A+B' Mm AW© A hoo B Mo dS>rc AmhoV.
'A-B' Mm AW© A hr B Mr nËZr Amho.
'A ×B' Mm AW© A  hm B Mm ^mD$ Amho
'A ÷B' Mm AW© A hr B Mr ‘wcJr Amho.
Oa S-T+Z, Agoc Va Imcrcn¡H$s gË¶ {dYmZ H$moUVo?
1) S hr Z Mr ‘wcJr Amho. 2)  Z hr S Mr H$mHy$ Amho.
3) S hr Z Mr H$mHy$ Amho. 4) S hr Z Mr AmB© Amho.

88) 'A+B' means A is the father of B.

'A-B' means A is the wife of B.

'A ×B' means A is the brother of B.

'A ÷B' means A is the daughter of B.

If S-T+Z, then which of the following is true ?

1) S is the daughter of Z 2) Z is the aunt of S.

3) S is the aunt of Z. 4) S is the mother of Z.
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89) H$mhr Ajao Jhmi Agcocr EH$ Aja‘m{cH$m {Xcocr Amho. Jhmi Ajao ‘m{cHo$Vrc H«$‘mZwgma EH$m n¶m©¶mV {Xcoco
AmhoV. Vmo n¶m©¶ {ZdS>m.
_a b b b_b a b b

1) a a b 2) b a b 3) a b b 4) b b a

89) A letter series with some missing letters is given. The missing letters, with the sequence in

the series are given in one of the options. Select that option.

_a b b b _b_b a b b

1) a a b 2) b a b 3) a b b 4) b b a

90) amet~Ôc {Xcocr nwT>rc ‘m{hVr Aä¶mgm Am{U Ë¶m§Mo C{MV dU©Z H$aUmam n¶m©¶ {ZdS>m -
amer X -30  nojm ‘moR>r Agcocr gdm©V chmZ ‘yiµ g§»¶m
amer Y -36 nojm chmZ Agcocr gdm©V ‘moR>r ‘yi g§»¶m
1) X hr amer ‘moR>r Amho 2) Y hr amer ‘moR>r Amho.
3) X Am{U Y ¶m ametV ’$aH$ Zmhr
4) EH$ amer Xþgarnojm ghmZo chmZ Amho.

90) Study the information given below about quantities and select option that describes these

appropriately.

Quantity X - The least prime number greater than 30

Quantity Y - The greatest prime number less than 36

1) Quantity X is greater 2) Quantity Y is greater

3) There is no difference between the quantities X and Y

4) One quantity is less by six than other quantity.

91) Imcrc àíZm‘Ü¶o (: : ) ¶m {MÝhmÀ¶m S>mdrH$S>rc XmoZ nXm§‘Ü¶o {d{eï> g§~§Y Amho d VgmM g§~§Y COdrH$S>rc XmoZ
nXm§‘Ü¶o Amho. Va àíZ{MÝhmÀ¶m OmJr ¶mo½¶ n¶m©¶ {ZdS>m.
CLOSE : DNRWJ : : OPEN : ? .
1) PRJO 2) RPJB 3) PRHR 4) RZWR

91) In the following question, there is some relation between the two terms to the left of (: :)

and the same relationship holds between the two terms to its right. Select correct alternative

in place of question mark.

CLOSE : DNRWJ : : OPEN : ? .

1) PRJO 2) RPJB 3) PRHR 4) RZWR

92) {à¶mMo àmám§H$ Zohm nojm OmñV AmhoV. hf©Mo àmám§H$ amHo$e EdT>o AmhoV. amhþcMo àmám§H$ {Xì¶m nojm H$‘r AmhoV. ZohmMo
àmám§H$ hf© nojm OmñV AmhoV. {Xì¶mMo àmám§H$ amHo$e nojm H$‘r AmhoV. gdm©V H$‘r H$moUmMo àmám§H$ AmhoV ?
1) {Xì¶m 2) hf© 3) amhþc 4) Zohm

92) Priya scored more than Neha. Harsh scored as much as Rakesh. Rahul scored less than Divya.

Neha scored more than Harsh. Divya scored less than Rakesh. Who scored the lowest ?

1) Divya 2) Harsh 3) Rahul 4) Neha
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93) {PZm Am{U {XZm ¶m§Zr ñdV:Mr VmH$X AO‘mdÊ¶mgmR>r A nmgyZ B n¶ªV d naV Aer gm¶H$c e¶©V cmdÊ¶mMo
R>adco. B n¶ªV OmVmZm {PZmZo Xa Vmer gamgar 30 {H$‘r Va A n¶ªV OmVmZm Xa Vmer gamgar 10
{H$‘r A§Va H$mnco. XmoÝhr {Xem§Zm OmVmZm {XZmZo Xa Vmer gamgar 20 {H$‘r A§Va H$mnco. Oa XmoKtZrhr
EH$mM doir e¶©V gwê$ Ho$cr Agoc Va {ZH$mc Xe©dUmam C{MV n¶m©¶ {ZdS>m.
1) XmoKtZr EH$mM doir e¶©V nwar Ho$cr.
2) e¶©V nyU© H$aÊ¶mgmR>r {PZmZo {XZmnojm OmñV doi KoVcm.
3) e¶©V nyU© H$aÊ¶mgmR>r {XZmZo {PZmnojm A{YH$ doi KoVcm.
4) {ZH$mc {ZpíMVrgmR>r {Xcocr ‘m{hVr nwaoer Zmhr.

93) For testing their stamina Zina and Dina decided to have a cycling race from point. A to B

and back. Zina average 30 km per hour to B and 10 km per hour to point A. Dina average

20 km per hour in both directions. If both began the race at the same time select the appropriate

option that indicates the result.

1) Both finish race at the same time.

2) Zina took more time than Dina to complete the race.

3) Dina took more time than Zina to complete the race.

4) Data given is not sufficient to determine the result.

94) @, #, %, z Am{U © ¶m g§Ho$Vm§Mm Imcrcà‘mUo Cn¶moJ Ho$cocm Amho. $
'A@B' Mm AW© Amho 'A',B §nojm chmZ Zmhr.
'A#B' Mm AW© Amho 'A',B§ nojm chmZ Zmhr Am{U B EdT>m Zmhr
'A%B' Mm AW© Amho 'A',B nojm ‘moR>m Zmhr
'A©B' Mm AW© Amho 'A',B nojm ‘moR>m Zmhr Am{U B nojm chmZ Zmhr.
'AzB' Mm AW© Amho 'A' B nojm ‘moR>m Zmhr Am{U B EdT>m Zmhr.
Imcr Mma {dYmZo Am{U Ë¶mdê$Z H$mT>coco VrZ {ZîH$f© {Xcoco AmhoV -
{dYmZo : (a) J#H (b) H©T (c) TzR (d)R%F

{ZîH$f© : (I) J#R (II) R#F (III) J#T

{ZîH$fmª~m~V ¶mo½¶ n¶m©¶ {ZdS>m :
1) ’$º$ (I) gË¶ Amho 2) ’$º$ (I) Am{U (II) gË¶ AmhoV
3) ’$º$ (III) gË¶ Amho 4) gd© gË¶ AmhoV

94) The symbols @, #, %, z and © are used as follows.

'A@B' means 'A' is not less than B.

'A#B' means 'A' is not less than B and not equal to B.

'A%B' means 'A' is not greater than B.

'A©B' means 'A' is not greater than B and not less than B.

'AzB' means 'A' is not greater than B and not equal to B.

Four statements and three conclusions derived from them are given below.

Statement - (a) J#H (b) HOT (c) (c) TzR (d)R%F

Conclusions -(I) J#R (II) R#F (III) J#T

Select correct option about conclusions :

1) Only (I) is true 2) Only (I) and (II) are true

3) Only (III) is true 4) All are true
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95) àíZmW©H$ {MÝhmÀ¶m {R>H$mUr ¶mo½¶ n¶m©¶ {ZdS>m.
Oa 4 × 5 = 1620

 5 × 6 = 2530

 6 × 7 = 3642

Va 4 × 9 = ?

1) 1636 2) 1681 3) 1664 4) 1645
95) Select correct option in place of question mark.

If 4 × 5 = 1620

 5 × 6 = 2530

 6 × 7 = 3642

Then 4 × 9 = ?

1) 1636 2) 1681 3) 1664 4) 1645

96) A{ZcZo, àË¶oH$s EH$m nopÝgcnojm AmR> én¶o OmñV qH$‘V Agcocr 16 noZo; àË¶oH$s  30 qH$‘V Agcoë¶m 12 døm;
àË¶oH$s  10 qH$‘V Agcoë¶m 10 nopÝgcr  Am{U àË¶oH$s EH$ dhr d EH$ nopÝgc ¶m§À¶m EH${ÌV {H$‘Vrnojm   35
H$‘r qH$‘V Agcoco 6 ImoS>a~a IaoXr Ho$co. A{ZcZo IM© Ho$cocr EHy$U a¸$‘ XmIdUmam n¶m©¶ {ZdS>m.
1)   910 2)   778 3)  1010 4)   738

96) Anil purchased 16 pens costing eight rupees more than that of a single pencil; 12 note books

each costing  30 ; 10 pencils each costing  10; and 6 erasers each costing  35 less than

the combined cost of a single note book and a pencil. Select the option that indicates the

total amount spent by  Anil.

1)  910 2)  778 3)  1010 4)  738

97) EH$ Am¶VmH¥$Vr OmJm 60 ‘r. bm§~ Am{U 40 ‘r. é§X OmJobm XmoZ Om°JtJ ‘mJ© OmJoÀ¶m AmVë¶m ~mOybm AmhoV. Cd©[aV
OmJoV ì¶m¶m‘mMo gm{hË¶ Amho. ì¶m¶m‘mÀ¶m gm{hË¶mMr OmJm 2109 ñ¹o$. ‘r. Amho. Om°JtJ ‘mJm©Mr é§Xr {H$Vr Amho?
1) 55 ‘r. 2) 44 ‘r. 3) 22 ‘r. 4) 33 ‘r.

97) A rectangular space 60 m. long and 40 m. wide has two paths for jogging in the middle of the

space and rest of the space has exercise equipment. The area of the exercise equipments is 2109

sq. m. What is the width of the jogging path?

1) 55 m. 2) 44 m. 3) 22 m. 4) 33 m.

98) 3√2, ¶m§Mm JwUmH$ma a Amho , 2 d √ 3, ¶m§Mm JwUmH$ma b Amho Am{U 2 d √6 ¶m§Mm JwUmH$ma c Amho. Oa x hm a
d b ¶m§À¶m ~oaOoMm dJ© Agoc, y hm 6 d (5-c) ¶m§Mm JwUmH$ma Agoc Am{U z hm 2 Mm dJ© d 3 Mm dJ© ¶m§Mm JwUmH$ma
Agoc Va xy/z Mr qH$‘V H$m¶?.
1) 1 2) 30-12√6 3) 30+12√6 4) 36

98) a is the product of 3 and √2, b is the product of 2 and√ 3, and c is the product of 2 and

√6. If x is the square of the sum of a and b, y is the product of 6 and (5-c) and z is the

product of square of 2 and square of 3, then what is the value of xy/z ?

1) 1 2) 30-12√6 3) 30+12√6 4) 36
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99) EH$m am§JoV doJdoJù¶m d¶mMo 6 cmoH$ C ô AmhoV. XmoZ dfm©Z§Va Ë¶m§Mo gamgar d¶ 43 hmoB©c Am{U gmVdr ì¶º$s,
Ë¶m§À¶mgmo~V Amcr AgVm, Ë¶mMo gÜ¶mMo gamgar d¶ 45 ~Zoc, Va gmVì¶m ì¶º$sMo gÜ¶mMo d¶ {H$Vr?
1) 52 2) 69 3) 43 4) 31

99) 6 persons are standing in a queue with different ages. After two years, their average age will

be 43 and when seventh person joins them, the present average age becomes 45. Then what

is the present age of the seventh person ?

1) 52 2) 69 3) 43 4) 31

100) Imcrc AmH¥$Ë¶m 1, 2, 3, 4 {dMmamV ¿¶m.

   1       2        3       4
darc AmH¥$Ë¶m 1  Vo 4 Xaå¶mZ, XmoZ {MÝho Ë¶m§Mo ñWmZ EH$m {Z¶{‘V {XeoZo ~XcV Amho. Vmo H«$‘ cjmV KoD$Z nmMì¶m
pñWVrV Vr AmH¥$Vr H$er Agoc Vr emoYm.

1) 2) 3) 4) 

100) Consider the following figures 1, 2, 3, 4.

     1           2           3           4

In the above figures 1 to 4, the two symbols are changing their position in a regular direction.

Given that sequence, find what the figure would look like in the fifth position.

1) 2) 3) 4) 

_______
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CÎmao … ‘hmamḯ> AamOn{ÌV godm (JQ> ~ d JQ> H$) nyd© narjm gamd nona

1-4 2-3 3-2 4-3 5-4 6-2 7-4 8-3 9-1 10-1

11-4 12-2 13-1 14-4 15-1 16-2 17-3 18-4 19-4 20-1

21-4 22-4 23-3 24-3 25-1 26-2 27-4 28-2 29-2 30-2

31-1 32-4 33-4 34-1 35-1 36-1 37-2 38-1 39-4 40-4

41-1 42-2 43--2 44-1 45-1 46-3 47-1 48-3 49-3 50-2

51-3 52-1 53-4 54-2 55-3 56-2 57-4 58-4 59-4 60-3

61-4 62-4 63-4 64-2 65-2 66-4 67-2 68-4 69-1 70-2

71-3 72-1 73-4 74-4 75-3 76-4 77-1 78-2 79-3 80-4

81-4 82-2 83-2 84-3 85-3 86-2 87-2 88-4 89-2 90-3

91-3 92-3 93-2 94-3 95-1 96-2 97-4 98-1 99-2 100-2

1) g§̀ wº$ amï´> ‘hmg ôZo .......... gaH$maÀ`m àñVmdmda 2022 ho df© eml²dV nd©Vr` {dH$mgmMo Am§Vaamï´>r` df© åhUyZ
Kmo{fV Ho$bo.
1) ŷVmZ àOmgÎmmH$ 2) VwH$r© àOmgÎmmH$ 3) MrZ àOmgÎmmH$ 4) {H${J©P àOmgÎmmH$

1) The United Nations General Assembly declared the year 2022 as the International Year of Sus-

tainable Mountain Development, at the proposal of the Government of the .............

1) Republic of Bhutan 2)  Turkish  Republic 3) Republic of China 4)  Kyrgyz Republic

gamd nona (8 E{àb, 2023)


